


BhHuARTRERAY 4 200

YANGZHONG SINYA AUTO-CONTROL ENGINEERING CO. LTD.

H =X

CONTENT

08 @ —PDO%IZSE v i) ek

Elbow Union

08 @ —PD62%Is i 28 b 3k
Elbow Bulkhead

05 @ —PDUE Ll

09 @ —PD3EI= il
Straight Connector

Tee Union

05 —PDINY ¥ 2 i 4 1 S —PDA U v i
¢ Straight Core Connector » @ JIME!IE}E[FIEJ%%
ross Union
06 (@ —PDOMELIE ik 10 @ —PDRGEIEIJ % ek

Straight Union Gauge Connector

10 @ -PDPUMMIZH}

06 G —PD6 178 B3 2 AR 1k Nut

Straight Bulkhead

o 11 —PDGAIB: %%
07 @ —PD2mIZE & ¢ Tube port

Elbow Connector

11 @ -PDGBRIE:

07 @ —PD2NZEIZ Lo 4583k Tube port

Elbow Core Connector



& U
SINYA

XYG—PD &R A1) -8t d 4%k

XYG —PD Welding fitting with flat washer

OF=1:3 @ Feature

O ELEIRE I . R Bk, Specifications, sizes and marks are marked on each connector.
N o 9 - Each connector is all treated by burrs—removing and degreasing.
© F LA | 3 M . ) . ) ) )
SrEEET LT RRRELE Straight connector is processed with cold-rolling bar with high
OHBEIAXARBARERNT, TH. =8B, MBERRK Ak quality and elbow, tee and cross are processed with precise
& ABERBAEINT forging pieces.

Tube size is from ®6 to ®50mm of common seamless steel tube.
OFREHIEM ©6~ ©50mmEI L BPIEE TANE

@ RS # Technical Data

JEAEHRTE Codes for Raw Materials

# ¥ Material #EHRES Material Code R Bar stock #B1F Forgings
4R Carbon Steel S ASTM A108 A576
31645540 Stainless Steel SS ASTM A276 ASTM A182
3045 HStainless Steel SS2 ASTM A276 ASTM A182
304L A5 #MStainless Steel SS3 ASTM A276 ASTM A182
316LAEE#MStainless Steel SS4 ASTM A276 ASTM A182

#iE: WTRRMRITIEN BRI, BRI FRE,

Note: Please make a note when needing special materials. All carbon steel connectors are treated with anti—corrosion.

@ 24T HISE Thread codes

e o ATRSREREENT
BREEIR BaRs e
Thread type Thread Code Code & Standard
The pitch for metric thread is shown as following.
SEH| BB ErAmerican Thread NPT ASME B1.20.1 SAE AS710561 M10 (included®;) and below|s{ K. 1rmm
R £ British Thread RT/RS/RG/BSP ISO7/1 150228 M24 (included?;) and below [T, 1.5mm
NEB24T Metric Thread M IS0261 GB/T196 M50 (included) and below[){ . 2mm

#E. MEHTFRERY TS FEFSRAP . Note, Please make a note when needing some other kind of standard threads.



Pl BIE LikBIIRAD)

YANGZHONG SINYA AUTO-CONTROL ENGINEERING CO. LTD.

@ EEJEHIMTE Codes for Temperature & pressure

B4k Material for connectors

- BETIERE BEIEEE RIETIEES BB TR
Material Minimum Operation Maximum Operation Minimum Operation Maximum Operation
Temperature Temperature Pressure Pressure
(c) (°F) (c) (°F) (psi) (MPa) (psi) (MPa)
B CS —200 —328 190 (375) 3900 (26.9) 9585 (66.1)
# 4 Brass —198 —324 204 (400) 1740 (12.0) 4792 (33.1)
EE4MSS —200 —328 537 (1000) 3900 (26.9) 9585 (66.1)
o R ORI B 448} Materials for Washer and O ring
RIEEAEE meERRE
T M Minimum Operation Maximum Operation
Components Material Temperature Temperature
('c) (°F) ('c) (°F)
# - Washer T &% Benitrile rubber —25 —13 110 (230)
## Jr Washer Tk FwAL & ¥ fluorocarbon —15 5 204 (400)
## B Washer B2 & Z Fpolyfluortetraethylene —65 —85 232 (450)
## Jr Washer 2:4F Copper —198 —324 426 (799)
OZFUE O ring T &% Renitrile rubber —25 —-13 110 (230)
OFYE O ring F1% ffluorubber —40 —40 232 (450)

@ Z¥aFZ3 Structure

1 Type | I1EY Type Il

@ 1T =45 Example for Order Number

o HA LU TR S PD 251425k Represents PD connector with the following features
SS—PDIN—-12—-61

(oSS 7\ PD ]\\ IN ] — | 12 ] —{ 6 )\ | )

A - A - - ~ —
BI6AREEW RIIRS HiB IR _ JRiRIMED12mm  EEIRGNPTI /8" EERR
Stainless steel Serial Code Straight Core Thread End OD Core Thread Tube type
RFEELA LT ASMPD &S L Represents PD connector with the following features

S—PD3—181

(s ji\ PD jj 3 ]ff 18 j—\ I U
Cart;ﬁorfmSteel F5I S Serial Code =B Tee — fFi5ME P 18mm End OD EEF N Tube type



& U
SINYA

XYG—PD &A1) -8t d 4%k

XYG —PD Welding fitting with flat washer

@ -PD1R! BB ZisESL Straight Connector

BEAITES Do do P L1 L Sil S
Order information %~ 2K #sf 2K B BRK EY BX BT X ot XK
(in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm)

—PD1—6-M10  0.24 6 0.12
—PD1-10-M10 0.39 10 0.24

M1Ox1 035 9 1.89 48 0.65 14 0.67 17
M10x1 0.3 9 209 53 0.67 17 0.756 19

—PD1-10-M14 0.39 10 0.24 Mi4x15 047 12 228 5 0.75 19 0.75 19
—PD1-14-M14 0.55 14 0.31 Mi4x15 0.47 12 252 64 0.87 22 094 24
—PD1-14-M18 0.55 14 0.31 8 Migx1.5 0.55 14 2.68 68 0.94 24 0.94 24
o o —PD1-18-M18 0.71 18 0.47 12 Migx1.5 0.55 14 2.99 76 1.06 27 1.06 27
N b —PD1-18-M22 0.71 18 0.47 12 M22x1.5 0.55 14 2.99 76 1.06 27 1.06 27
a —PD1—22-M22 0.87 22 0.59 15 M2x1.5 0.55 14 3.03 77 1.26 32 1.34 34
T% —PD1—22-M27 0.87 22 059 15 M7x2 0.63 16 3.19 81 1.34 34 1.34 34
DO —|————————— do———— —PD1-28-M27 1.10 28 0.79 20 M27x2 0.63 16 3.39 86 1.34 34 154 39
Lw —PD1-28-M33 1.10 28 0.79 20 M33x2 0.63 16 3.39 86 1.54 39 1.54 39
‘ i —PD1—34-M33 1.34 34 0,98 25 |33x2 0.63 16 3.66 93 1.65 42 1.81 46
L —PD1-34-M42 1.34 34 0.98 25 Md2x2 0.71 18 3.86 98 1.81 46 1.81 46
—PD1—42-M42 1.65 42 1.26 32 M42x2 0.71 18 3.94 100 1.97 50 2.17 55
—PD1—42-M48 1.65 42 1.26 32 M4gx2 0.79 20 4.06 103 2.17 55 2.17 55
@ -PDINZAI BB LiB4EESIESL Straight Core Connector

BAITERE Do do P L1 L St s2
Order information #~F ZK 3~k ZX (NPT, R1) #~F =k #Y =X BT =k %y 2K
(in) (mm) (in) (mm) (in) (mm) (in) (mm) (i) (mm) (in) (mm)
—PDIN-6—2 024 6 012 3 1,8 0.3 9 1.97 5O 055 14 0.67 17
—PDIN-10-2 0.39 10 0.24 6 1,8 035 9 220 5 067 17 075 19
—PDIN-6—4 024 6 0.12 3 4,4 051 13 2,05 52 055 14 067 17
—PDIN-10-4 0.39 10 0.24 6 1,4 051 13 213 54 067 17 0.75 19
—PDIN-10-6 0.39 10 0.24 6 358 055 14 244 62 067 17 075 19
—PDIN-12-6 047 12 031 8 354 05 14 260 66 075 19 0.87 22
—PDIN-14-6 055 14 031 8 354 055 14 268 68 087 22 0094 24
—PDIN-18-6 0.71 18 0.47 12 3,54 055 14 276 70 1.06 27 1.06 27
—PDIN-12-8 0.47 12 031 8 1,0 067 17 276 70 087 22 0.87 22
~PDIN-14-8 055 14 031 8 1,0 067 17 283 72 087 22 094 24
s2 S1 ~PDIN-18-8 0.71 18 0.47 12 1,2 067 17 291 74 106 27 1.18 30
A /P —PDIN-22-8 0.87 22 059 15 1,2 067 17 299 76 1.18 30 1.26 32
; | ~PDIN-18-12 0.71 18 0.47 12 3s4 075 19 299 76 1.06 27 1.18 30
DO VS —PDIN-22-12 0.87 22 0.59 15 374 075 19 3.07 78 1.18 30 1.26 32
1o 1\ —PDIN-25-12 0.98 25 0.71 18  3s4 075 19 3.15 80 1.26 32 1.34 34
w —PDIN-28—12 1.10 28 0.79 20 3s4 0.75 19 3.23 82 1.34 34 1.42 36
(B, —PDIN-25-16 0.98 25 0.71 18 1 0.87 22 3.39 8 1.34 34 1.42 36
L —PDIN-28-16 1.10 28 0.79 20 1 0.87 22 3.54 90 1.34 34 1.42 36
—PDIN-34-16 1.34 34 0.98 25 1 0.87 22 3.78 9 1.61 41 1.81 46
—PDIN-34-20 1.34 34 098 25 144 091 23 3.86 98 1.61 41 1.81 46
—PDIN-42-20 1.65 42 1.26 32 144  0.91 23 3.94 100 1.97 50 2.17 55
~PDIN-42-24 1.65 42 1.26 32  1,, 098 25 449 114 197 50 217 55



Pl BIE LikBIIRAnD)

YANGZHONG SINYA AUTO-CONTROL ENGINEERING CO. LTD.

@ -PD6E! B @ hja]$EsL Straight Union

. Do do L St 2
BXRTNS . Lo a ma R I
Order information =4 % #Y BX BT = E- ] E -
(in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm)
—PD6—6 0.24 6 0.12 3 1.81 46 0.55 14 0.67 17
—PD6—-10 0.39 10 0.24 6 2.05 52 0.67 17 0.75 19
—PD6—12 0.47 12 0.31 8 2.20 56 0.75 19 0.87 22
—PD6—-14 0.55 14 0.31 8 2.36 60 0.87 22 0.94 24
—PD6—-18 0.71 18 0.47 12 2.76 70 1.06 27 1.06 27

:F/ ) //\ —PD6-22 0.87 22 0.59 15 2.91 74 1.18 30 1.26 32

—PD6—25 098 25 071 18 307 78  1.34 34 134 34
4 -#-—-——-——————D0
T —PD6—28 110 28 0.79 20 3.23 82 1.34 34 142 36
L —PD6—34 1.34 34 098 25 354 90 1.61 41 1.8 46
—PD6—42 165 42 126 32 38 98 197 50 217 55
=ia 2o R
@ -PD61BYE @ FH#RiEsL Straight Bulkhead
. Do do L St S2
BETHS o . sk xy B xy 5% 29 8%
Order information *_T’r = *_T’r = *_T’r = *_T’r = *_Tr =
(in)  (mm) (in)  (mm) (i) (mm)  (n) (mm)  (in)  (mm)
—PD61—6 0.24 6 0.12 3 378 9% 055 14 0.67 17
~PD61—10 039 10 0.24 6 3.94 100 067 17 075 19
—PD61—12 0.47 12 0.31 8 417 106 0.75 19 0.87 22
—PD61—14 0.55 14 0.31 8 441 112 087 22 094 24
S2 S1

M —PD61—18 0.71 18 047 12 49 126 1.06 27 1.18 30

f
T 4 oo PD61-22 0.87 22 059 15 543 138 1.18 30 1.26 32

MJ
—PD61—25 0.98 25 0.71 18 559 142 1.26 32 1.42 36

L

—PD61—28 110 28 079 20 591 150 1.34 34 154 39
—PD61—34 1.3 34 09 25 630 160 1.61 41 1.81 46
—PD61—42 1.65 42 1.26 32 7.01 178 1.97 50 2.17 55



& U
SINYA

XYG—PD &R A1) -8t d 4%k

XYG —PD Welding fitting with flat washer

@ -PD2E!Z5 @ 2L % $EsL Elbow Connector

HEAITRE Do do P H L S W

Order information 25 =K  #F 2K BT BRK BT BX BT 2k my EX

(in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm)
—PD2—-6—-M10 0.24 6 0.12 3 M10x1 00.79 20 1.89 48 0.67 17 0.55 14
—PD2—-10-M10 0.39 10 0.24 6 M10x1 0.87 22 1.97 50 0.75 19 0.67 17
—PD2—-10-M14 0.39 10 0.24 6 M14x1.5 0.91 23 205 52 0.75 19 0.75 19
—PD2—-14—M14 0.55 14 .31 8 Mi14x1.5 0.98 25 220 56 0.94 24 0.87 22
—PD2—-14—M18 0.55 14 31 8 M18x1.5 1.18 30 2.28 58 0.94 24 0.94 24
—PD2—-18—M18 0.71 18 47 12 wm18x1.5 1.30 33 2.60 66 1.06 27 1.06 27
—PD2—-18-M22 0.71 18 47 12 M22x1.5 1.38 35 60 66 1.06 27 1.06 27
—PD2-22—M22 0.87 22 59 15 M22x1.5 1.50 38 .76 70 1.34 34 1.26 32
—PD2-22—M27 0.87 22 53 15 M27x2 1.54 39 .83 72 1.34 34 1.34 34

—PD2—-28—-M27 1.10 28 79 20 M27x2 1.61 41 15 80 1.54 39 1.34 34

—PD2—-28-M33 1.10 28 79 20 M33x2 1.61 41 82 1.564 39 1.64 39

—PD2—-34-M33 1.34 34 98 25 M33x2 1.69 43 3.564 90 1.81 46 1.65 42

o O O O O o o o o o

—PD2—-34-M42 1.34 34 98 26 M42x2 1.85 47 62 92 1.81 46 1.81 46

—PD2—-42-M42 1.65 42 1.26 32 M42x2 1.93 49 3.94 100 2.17 55 1.97 50

AW W W W W N NN
N
w

—PD2-42-M48 1.65 42 1.26 32 M48x2 2.13 54 4.06 103 2.17 55 2.17 55

@ -PD2NZAEIZE @ R us 4L Elbow Core Connector

HAITHS Do do B H L S W
Order information #~ =K # 2K P ER OET B BT =X & BXK
(in) (mm) (in) (mm) BT, G (in) (mm) (in) (mm) (in) (mm) (in) (mm)
—PD2N—6-2 0.24 6 0.12 3 1/8 0.79 20 1.89 48 0.67 17 0.55 14
—PD2N—10-2 0.39 10 0.24 6 1/8 0.87 22 197 50 0.75 19 0.67 17
—PD2N—6—4 0.24 6 0.12 3 1/4 0.87 22 205 52 0.67 17 0.55 14
—PD2N—10—4 0.393 10 0.24 6 1/4 0.91 23 205 52 0.75 19 0.67 17
—PD2N—10—6 0.39 10 0.24 6 3/8 0.94 24 220 5 0.75 19 0.67 17
—PD2N—12—6 0.47 12 0.31 8 3/8 1.02 26 2.20 5 0.87 22 0.75 19
—PD2N—14—6 0.55 14 0.31 8 3/8 1.10 28 2.28 58 0.94 24 0.87 22
—PD2N—18—6 0.71 18 0.47 12 3/8 1.18 30 2.44 62 1.06 27 1.06 27
—PD2N—12—-8 0.47 12 0.31 8 1/2 1.26 32 268 68 0.87 22 0.87 22
S —PD2N—14-8 0.55 14 0.31 8 1/2 1.34 34 283 72 094 24 0.87 22
/ w —PD2N—18—8 0.71 18 0.47 12 1/2 1.42 36 2.99 76 1.18 30 1.06 27
_ | f —PD2N—22—-8 0.87 22 0.59 15 1/2 1.50 38 2.83 72 1.26 32 1.18 30
Jo— 77777777 - N\ —PD2N-18-12 0.71 18 0.47 12 3,4 146 37 2.91 74 1.18 30 1.06 27
| —PD2N—22—12 0.87 22 0.59 15 3/4 1.57 40 2.99 76 1.26 32 1.18 30
] ‘ —PD2N—-25—-12 0.98 25 0.71 18 3/4 1.61 41 3.07 78 1.34 34 1.26 32
b ~do, H —PD2N—-28-12 1.10 28 0.79 20 3/4 1.65 42 3.15 80 1.42 36 1.34 34
\ ‘ —PD2N—25—16 0.98 25 0.71 18 1 1.65 42 3.27 83 1.42 36 1.34 34
! —PD2N—28—16 1.10 28 0.79 20 1 1.69 43 3.46 88 1.42 36 1.34 34
L - —PD2N—-34—-16 1.34 34 0.98 25 1 1.69 43 3.62 92 1.81 46 1.61 41
—PD2N—34—20 1.34 34 0.98 25 1174 1.89 48 3.86 98 1.81 46 1.61 41
—PD2N—42—-20 1.65 42 1.26 32 11,4 1.93 49 402 102 2.17 55 1.97 50
—PD2N—42—-24 1.65 42 1.26 32 11,2 2.01 b1 417 106 2.17 55 1.97 50



Pl BIE LikBIIRAnD)

YANGZHONG SINYA AUTO-CONTROL ENGINEERING CO. LTD.

@ -PDOE!Z5 & hia]$EsL Elbow Union

N D d H L S w
HAITHS ° ’ N N
Order information 2 ZK  #T ZER & =X #HBY X BT Tk my BEX
(in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm)
—PD9—6 0.24 6 012 3 071 18 1.8 48 0.67 17 0.55 14
—PD9—-10 0.39 10 0.24 6 0.87 22 1.97 50 0.75 19 0.67 17
—PD9—12 0.47 12 031 8 094 24 220 5 087 22 0.75 19
—PD9—14 055 14 031 8 102 26 2.28 58 0.94 24 087 22
S
/ W —PD9—-18 0.7 18 0.47 12 1.18 30 2.44 62 1.06 27 1.06 27
T | —PD9—22 0.87 22 059 15 134 34 28 72 1.26 32 1.18 30
D0OH+—-———-———-——~-— -—
i ‘ I —PD9—25 0.98 25 071 18 1.42 3 3.07 78 1.34 34 1.34 32
S A
l l —PD9—-28 1.10 28 0.79 20 1.50 38 3.15 80 1.42 36 1.34 34
1
._DF—, —PD9—34 134 34 098 25 1.65 42 362 92 1.81 46 1.61 41
L
I
—PD9—42 165 42 1.26 32 1.8 48 402 102 2.17 55 1.97 50
= 2
@ -PD62RIZS 1B AR 3ESL Elbow Bulkhead
N Do do H L S W
GEMIHS g mk my BE R ®E AT K AT mX Y EX
rder information i) (mm) (in)  (mm) (in) (mm) (in) (mm) (i) (mm) (in) (mm)
—PD4—6 0.24 6 0.12 3 1.65 42 2.60 66 0.67 17 0.55 14
—PD4-10 039 10 0.24 6 1.97 50 291 74 075 19 0.67 17
—PD4-12  0.47 12 0.31 8 213 54 315 80 0.87 22 0.75 19
—PD4—14 055 14 0.31 8 228 58 339 8 0.94 24 087 22
S W —PD4—18 071 18 0.47 12 260 66 3.62 92 1.06 27 1.06 27
| 'F —PD4-22 087 22 059 15 2.76 70 3.94 100 1.26 32 1.18 30
04— — N\
TL [ —PD4-25 0,98 25 0.71 18 2.91 74 417 106 1.34 34 1.34 32
__ldb
D
i H —PD4—-28 1.0 28 079 20 3.07 78 433 110 1.42 36 134 34
|
‘ —PD4-34 134 34 098 25 3.46 8 472 120 1.81 46 1.61 41
IV §
L ‘ —PD4—42 165 42 1.26 32 3.8 98 528 134 217 55 1.97 50




& U
SINYA

XYG—PD &R A1) -8t d 4%k

XYG —PD Welding fitting with flat washer

@ -PD3RI =@ rh[g#E3L Tee Union

HAITES Do do H L S W
Gy | Coms EX mY BX omy BR &Y EX AT Z;x #&y 22X
rder information X ) ) ) . X
(in) (mm) (in) (mm) (in) (mm) (in)  (mm) (in) (mm) (in) (mm)
—PD4—6 0.24 6 0.12 3 1.65 42 3.31 84 0.67 17 0.55 14

—PD4—-10 0.39 10 0.24 6 1.97 50 3.94 100 0.75 19 0.67 17

—PD4-12 0.47 12 0.31 8 213 b4 4.25 108 0.87 22 0.75 19

—PD4-14 0.55 14 0.31 8 2.28 58 4.57 116 0.94 24 0.87 22

—PD4-18 0.7 18 0.47 12 2.60 66 5.20 132 1.06 27 1.06 27

—PD4-22 0.87 22 0.59 15 2,76 70 561 140 1.26 32 1.18 30

?

—PD4-25 0.8 25 0.7 18 2.91 74 5.83 148 1.34 34 1.34 32

= ———=-—k-—-———-D0
| r
! \§ —PD4—-28 1.10 28 0.79 20 3.07 78 6.14 156 1.42 36 1.34 34
H w \
|
‘ —PD4—-34 1.34 34 0.98 26 3.46 88 6.93 176 1.81 46 1.61 41
@ —PD4—42 1.65 42 1.26 32 3.86 98 7.72 196 2.17 55 1.97 50

@ -PDAEI P& ha]$Esk Cross Union

. Do do H L S W
ERTHS  my mk omY BXK AT SR RS BX BT R RS EX

Order information (i) (mm) ~ (in) (mm) (in) (mm) (in) (mm) (i) (mm) (i) (mm)
—PD4—6 0.24 6 0.12 3 1.65 42 3.31 84 0.67 17 0.55 14
—PD4—10 0.39 10 0.24 6 1.97 50 3.94 100 075 19 067 17
—PD4—-12 0.47 12 0.31 8 2.13 54 4.25 108 0.87 22 0.75 19

—PD4—-14 0.55 14 0.31 8 2.28 58 4.57 116 0.94 24 0.87 22

g —PD4—18  0.71 18 0.47 12 260 66 520 132 1.06 27 1.06 27
} —PD4—22  0.87 22 059 15 2.76 70 551 140 1.26 32 1.18 30
5 W M
| N\ / J —PD4-25  0.98 25 0.71 18 2.91 74 583 148 1.34 34 1.34 32
f\

DTO ’ —PD4—28  1.10 28 079 20 3.07 78 6.14 156 1.42 36 1.34 34
f —PD4-34  1.34 34 098 25 3.46 88 6.93 176 1.81 46 1.61 41
L —PD4—42 165 42 1.26 32 3.86 98 7.72 196 2.17 55 1.97 50

L




Pl BIE LikBIIRAnD)

YANGZHONG SINYA AUTO-CONTROL ENGINEERING CO. LTD.

@ -PDRGEI[EHF#EL Gauge Connector

o Do do P L S
EEITHS N ~ N -
Order information % EE ES) 2K &~ ZX e EFS
(in) (mm) (in) (mm) (in) (mm) (in) (mm)
—PDRG—6—M14 0.24 6 0.12 3 M14x1.5 1.10 28 0.67 17
—PDRG—10—M16 0.39 10 0.24 6 M16 x 1.5 1.26 32 0.75 19
S —PDRG—12—-20 0.47 12 0.31 8 M20x 1.5 1.50 38 1.06 27
N
1 ‘ —PDRG—12—G8 0.47 12 0.31 8 G1/2 1.50 38 1.06 27
f
DlO O —T———""——~—71—~"77 P
i \ —PDRG—14—M20 0.55 14 0.31 8 M20x 1.5 1.57 40 1.06 27
L
—PDRG—14—G8 0.55 14 0.31 8 G1/2 1.57 40 1.06 27
@ -PDPUEIHZEH} Nut
Do P L S
=]
EZF'LTF&’:T Hf =% He~f S =t =¥
Order information X ) )
(in) (mm) (in) (mm) (in) (mm)
—PDPU—6 0.24 6 M12x1.25 1.18 30 0.67 17
—PDPU-10 0.39 10 M16x 1.5 1.34 34 0.75 19
—PDPU—-12 0.47 12 M20x 1.5 1.54 39 0.87 24
E\ —PDPU—14 0.55 14 M22 x 1.5 1.65 42 0.94 27
—PDPU—-18 0.71 18 M27 x1.5 1.81 46 1.06 32
( —PDPU—-22 0.87 22 M30x 1.5 1.97 50 1.26 36
D0 —fA———-—FP
\ —PDPU—25 0.98 25 M33 x 2 2.05 52 1.34 39
L AAAAAA —PDPU—28 1.10 28 M36 x 2 2.13 54 1.42 41
L —PDPU—-34 1.34 34 M42 x 2 2.28 58 1.81 50
—PDPU—42 1.65 42 M52 x 2 2.44 62 2.17 60



& U
SINYA

XYG—PD &R A1) -8t d 4%k

XYG —PD Welding fitting with flat washer

@ -PDGAZUHZE Tube port

D

EAITHS bo do L
Order information &~ ZX £y 22X o) 2K ) =ZX
(in) (mm) (in) (mm) (in) (mm) (in) (mm)
—PDGA—6 0.24 6 0.12 3 0.39 10 0.79 20
—PDGA—10 0.39 10 0.24 6 0.55 14 0.94 24
—PDGA—12 0.47 12 0.31 8 0.71 18 1.02 26
—PDGA—14 0.55 14 0.31 8 0.79 20 1.10 28
_| —PDGA—18 0.71 18 0.47 12 0.94 24 1.26 32
T x —PDGA—22 0.87 22 0.59 15 1.06 27 1.26 32

D d0 f—-—-—-—-— po
i l —PDGA—-25 0.98 25 0.71 18 1.18 30 1.38 B
J —PDGA—28 1.10 28 0.79 20 1.30 &3 1.38 35
L
—PDGA—34 1.34 34 0.98 25 1.54 39 1.50 38
—PDGA—42 1.65 42 1.26 32 1.93 49 1.57 40
<
@ -PDGBEYEEE Tube port

BAITHRS = & ° .
Order information &% ERS S 22X E) 2K £y ZX
(in) (mm) (in) (mm) (in) (mm) (in) (mm)
—PDGB—6 0.24 6 0.12 3 0.39 10 0.98 25
—PDGB—10 0.39 10 0.24 6 0.55 14 1.14 29
—PDGB—12 0.47 12 0.31 8 0.71 18 1.26 32
—PDGB—14 0.55 14 0.31 8 0.79 20 1.30 33
—PDGB—18 0.71 18 0.47 12 0.94 24 1.46 37
{ —PDGB—22 0.87 22 0.59 15 1.06 27 1.50 38

T N
Dd |- __  __ 1 DO —PDGB—25 0.98 25 0.71 18 1.18 30 1.57 40
— I

—PDGB—28 1.10 28 0.79 20 1.30 33 1.61 41
L —PDGB—34 1.34 34 0.98 25 1.54 39 1.73 44
—PDGB—42 1.65 42 1.26 32 1.93 49 1.81 46



i Z T HETEFRA T

fij1 5 'I;I YANGZHONG SINYA AUTO—CONTROL ENGINEERING CO. LTD

Wiht: YLI59 P 45T R XOXEER LR

Add: Xinglong Port,Yangzhong,Zheniang.Jiangsu,China
Hi1fi(Tel): 0511-88783806

f& fi(Fax): 0511-88451691

[ 1l (Http): www.sklok.com

M54 (E-mail): sales@sklok.com info@sklok.com



